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CTOXaCTUYECKUN HarpeB 3N1EeKTPOHOB

N, Vi

Ug = U, cos(wt)

A€ = m(vt—zz-us)z _ m'(;t)

2

Ag = —2mvi-ug + 2111-(113)2



G= iﬂ'(Vt — 115)

P="<G-Ag>m
P = i-n < (Vt — us)-[—zm-vt-us + 2m-(us)2} >

P = %n-zvt < (us)2 > o= %m-(uo)znvt

P = 2m-(u0)2 <G>m






B cnyyae ogHOPOAHO ABUMKYLLMXCA 3N1EKTPOHOB

Ge = in(ve — us) = in(vt + ug — 115) Ge = in-vt

AE = % (Vt + Uug — 2-115)2 — % (Vt + us)2

m
A€ = — 4 Ug' Vg = 2m-Ug- Vy

P=m<G-Ae>m= %n-(vt)z <ug>"=0
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Ve =Vt T+ U

A= T (ir 2 - (o)

AE = —zm-us-(vt +u - 113)

G = ins-(vt+u—us)

P = —%-m < Ng-Ug (Vt +u- us)2 >



P=mc< ns(us—u) > Vi
NgUg = N, U

P=mn0<u(us—u)>vt



